HYSICS 12

FINDING INFORMATION ABOUT MORE COMPLEX CIRCUITS
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1. Find the equivalent resistance of the electric circuit below:
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~ Before using the formutla for equuvalent resnstance for resistors in parallel R; and R, must be added

using the formula for resistors in series.

2. Find the currle\r;t\:/l:/t\he electric circuit below: Step 1: locate all resistors in parallel Bz, Ry. and K¢
P\‘ = 1O QL 23: ZZ.OL Step 2: add R; and R, using the formula for resistors in series
;- ? Step 3: Find the resistance from R; and (R; + R, ) using the
= Z formula for resistors in parallel
2y R,=1T0q = Ry 250 P
;.’ Step 4: Find the equivalent resistance using the result from
‘[ step 3 and adding R, using the formula for resistors in series
?\3 + R ‘f 72 D+ 230 = '-/ 7030 Step 5: Use Ohm's law to fin the electric current
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3&& much information as you caﬁ about the electric circuit below:
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» F!nd the equwa.llent resistance ?\': 5Q p\}; 5 Q.
» Find the electric current at the ,
battery e M/\N\ v
> Find the electric current for each
resistor ‘ JVW )
» Find the potential in every closed 'p\ B C» 9— 'é Rul:jﬂ
loop using the Second Kirchhoff’s X
Rule |
(P Vbattery =3 Viesistors tnaloop) + | =
» Use Ohm'’s Law to find missing Q, V
information when 2 out of 3 ,
quantities are known é 2 R : [ i P [
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